2-JAW PARALLEL GRIPPERS
SERIES GP

> PRODUCT ADVANTAGES

“The enduring”

» Proven technology

We have more than 20 years of proven reliability, which
ensures uninterrupted production for you

» Very short cycle times

Low-friction circular guides enable very short cycle times
and, therefore, high component output for your machine

» Failure-free continuous operation

Our uncompromising “Made in Germany” quality guaran-
tees up to 10 million maintenance-free cycles

» SERIES CHARACTERISTICS

Installation size Version
-/ s |
Spring closing C [ ]
High-strength S [}
10 million maintenance-free cycles (max.) [ ] [ ]
Inductive sensor [} ®
1P30 [ ] [}

www.zimmer-group.com P Data, Drawings, 3-D Models, Operating Instructions



> BENEFITS IN DETAIL

> TECHNICAL DATA

Wedge hook mechanism
- synchronized the movement of the gripper jaws
- high force transfer

Gdjwstphiteswitch cam
- forpotothesgsidg and mechanics (from GP45)

Gdjopstatiswitch cam
- fodpp@hitd gepsininger mounting
(4) Boiteresljde
- fodioidusegripmeinget sequetiog
Rloiististgiblock
- foolovingstormmalectieatsegineitzewitch
(6) mrwmting block
- doubigrag fiogi mohectve o ayitinideswitch
Bidumting and positioning
- doublErag it pbeuimaticeyéraaides for versatile positioning

Skmsitiggland positioning
- mounting prdsidsitimmmgevenbgidesd dield satdemositioning

Stroke per jaw

Installation

. [mm]
size

3

4

5

)

10

8-13

Gripping force

[N]

8,4

36

94
118-190
220-275
450 -5250

Weight IP class
[kg]

0,033 IP30
0,081 IP30
0,15 IP30
0,255-0,3 IP30
0,45-0,5 IP30
1,3 IP30

» FURTHER INFORMATION IS AVAILABLE ONLINE

up-to-date.

All information just a click away at: www.zimmer-group.com. Find data, illustrations, 3D models and operating
instructions for your installation size using the order number for your desired product. Quick, clear and always



2-JAW PARALLEL GRIPPERS
INSTALLATION SIZE GP100

» PRODUCT SPECIFICATIONS

» Gripping force diagram » Forces and moments
Displays static forces and moments that can
[N] Shows the arithmetic total of the individual forces that occur on the gripper also have an eﬁeCt’ besides the gripping force.
5500 fingers, depending on the gripper finger length M
N u 1 1 My, <~
4500 /
N AGP100S-B -><-
RN omS-8
3000 @GP100-B/99 > <- Mr
©GP100-B
2500
I e e e t Fa
1500
D¢ — — *> Mr [Nm] 10
] T ¥ ¥ Y [mm]
0 18 36 54 72 90 Mx [Nm] 10
Colored area: increased wear and tear to be expected
My [Nm] 10
Fa [N] 400
» INCLUDED IN DELIVERY
2 [piece]
'ﬁy Mounting block
KB8K
» RECOMMENDED ACCESSORIES
GRIPPING COMPONENTS @ D Q SENSORS
» UB100 - NJ8-E2
&, Universal jaw set aluminium B e Inductive proximity switch - Cable 5 m

NJ8-E2S @
Inductive proximity switch - Connector M8

& '@ GV1-8X8
= Straight Fittings - Quick Connect Style
“ CONNECTIONS / OTHER
e —— KAG500
WV1-8X8 ©
% Angled Fittings - Quick Connect Style /’ g ponnecton SEGRt Cable S Socker S 8
DEV08 ( ZE30H7X4
Quick Exhaust Valve Centering Disc

www.zimmer-group.com P Data, Drawings, 3-D Models, Operating Instructions



» Technical data

GP100-B GP100-B-99 GP100S-B
Stroke per jaw [mm] 13 13 8
Gripping force in closing [N] 450 450 5250
Gripping force in opening [N] 450
Gripping force secured by spring min. [N] 70 250
Closing time [s] 0.05 0.04 0.05
Opening time [s] 0.05 0.04 0.05
Repetition accuracy +/- [mm] 0.05 0.05 0.05
Operating pressure min. [bar] 5 4 5
Operating pressure max. [bar] 8 8 8
Nominal operating pressure [bar] 6 6 6
Operating temperature min. [°C] +5 +5 +5
Operating temperature max. [°C] +80 +80 +80
Air volume per cycle [cm?] 30 30 30
Weight [kg] 1.4 1.4 1.4
@ Gripper attachment
Energy supply
@¢6H7x8 4—% @ F?xing for grippelr finger
i @ Fixing for mounting block
D ® Air connection (close)
\® & § Air connection (open)
(O] @ Air connection, alternative (close)
® ®
@ = Air connection, alternative (open)
4x M8x10 64 @
8x M5x10
146 @4)( ¢4H7x6 \
49 49 35 \ 48
433 <—>13 L, 22 <13 —_— N‘ 2\0i
E |\
°] o © o )
J& % Qe R GRROd
llede | Ol te! I° ebo i
e tmmm | o8 | @ |t @ {73 i
DIN912* A 3 ° 13 - ‘
o | ¥ ° |
Béy LS .
@ 2x G1/8" ~ 14 ‘ o 7 @LL—M u”T

@4x M3x5 v/ M ; -

108
120
10 15, 152002 5
= 4x¢4H7x6@
o 0 o /
i ® o ®
e o o a
= = = xSxMBxS@

28+0.02
ey
"

@x M8x14

Data, Drawings, 3-D Models, Operating Instructions <« www.zimmer-group.com 3



